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Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your
answer sheet.

[PART A: Grammar and Vocabulary

S 3053 9355 clyiane 15 355 & biye s im0 39831 (RTT b Al 9) el 5 Lo o5 500 39 ol ool Gl

61- The boss said that any workers wishing to leave unexpectedly ... his request letter to his

secretary.
1) may sent 2) may be sent
3) should send 4) should be sent

62- 1 am sure we ... succeed and get the best result as we have worked hard enough.
1) will 2) will be 3) are going to 4) will have
63- I was extremely nervous about speaking at the conference. To be honest, I ... in front of so many
people before.
1) didn’t stand 2) had not stood 3) was not standing 4) have not stood
64- 1 was put in an emergency situation to make a wise decision. Sadly, a lot of ... raced through my
mind, and | couldn’t come out with a reasonable one.
1) emotions 2) actions 3) knowledge 4) thoughts
65- Medicine minister believes that the ... number of Coronavirus patients is less than what the social
media claims.
1) actual 2) worrying 3) preventive 4) heavy
66- As there was not a direct flight, they had to change planes twice before reaching their final ... .
1) entertainment 2) destination 3) attraction 4) suggestion
67- It is said that the reduction of nuclear defenses can cause an increase in the ... of a nuclear war in
the future.

1) distance 2) communication 3) possession 4) possibility

a2 genly yg03] ¥l 4y oy 4 GBSy JolS Jabs b g a8 Jad 1y oy LS g i8S (68 unl ) Aoy 45 095 ﬁaﬁw@




W10 i by 833199 (0 g0 W4 023598 T4 0go3T —(¥) 839

68- Perhaps there is a/an ... technical solution, though as yet that doesn’t seem to be the case.

1) energetic 2) boring 3) neat 4) careful

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice
on your answer sheet.

When we consider how the world has changed since our great-grandparents’ time, it’s important
to remember how transport has changed. Of course, people don’t like traffic now, but even in the
past, people used to think that the roads were dangerous. When car was a new ...(69)... , a man
would walk in front of cars with a red flag, warning everybody. Now of course, we have got used
to...(70)....

Another thing we don’t find ...(71)... any more is the different types of things in our shops. As
we go to our local supermarkets, we see tea from China, bananas from South America and radios
from Japan. All these products must be carried. Every day these things are ...(72)... from one
part of the world to another, by all kinds of means of transport such as trucks, ships, planes, etc.

69-1) cradle 2) invention 3) experiment 4) belief
70-1) themselves 2) they 3) their 4) them
71-1) suitable 2) rapid 3) strange 4) strong
72-1) controlled 2) solved 3) moved 4) developed

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Passage 1

The solar system is the Sun and the objects that travel around it. The Earth is a part of the solar
system because it also travels around the Sun. The Sun is a star similar to the other stars in the sky,
but it is much closer to the Earth. The Sun is mostly a big ball of gases composed mainly of hydrogen
and helium. There are seven other planets that travel around the Sun, too. These planets, in order,
include Mercury, Venus, Mars, Jupiter, Saturn, Uranus, and Neptune. The Earth is located between
Venus and Mars. The path a planet uses when traveling around the Sun is oval-shaped and is called
an orbit. Each of the planets in the solar system takes a different amount of time to orbit or travel
around the Sun. The four inner planets, Mercury, Venus, Earth and Mars are made of rock
containing many different minerals. The four outer planets, Jupiter, Saturn, Uranus, and Neptune
are mostly made up of different gases. Jupiter is mainly helium, hydrogen and water. The four outer
planets also have rings that encircle them with Saturn having the most rings.

Other objects in space include the moons of six planets. A moon is a celestial object (object in
space) that orbits another body in space. There are approximately 173 moons throughout the solar
system. The Earth has a single moon, Mercury and Venus have none, and the planet with the most
moons is Jupiter with 63. Not far behind Jupiter, is Saturn with 62 moons. The asteroid belt is
another object in the solar system. The asteroid belt contains irregularly shaped bodies called
asteroids which are believed to be left over from the beginning of the solar system, 4.6 billion years
ago. The objects are rocky and irregular in shape, and some may be hundreds of miles across, but
most of the asteroids are very small.
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73- What is the difference between the Sun and other stars of the universe?

1) The Sun is much farther away. 2) The Sun shines brighter than the others.

3) Other stars are farther from the Earth. 4) The Sun is much larger than the others.
74- Which of the following is the CORRECT order of the outer planets?

1) Jupiter, Saturn, Neptune, Uranus 2) Jupiter, Saturn, Uranus, Neptune

3) Saturn, Jupiter, Uranus, Neptune 4) Jupiter, Uranus, Neptune, Saturn

75- Which of the following is the definition of asteroids?
1) Irregularly shaped bodies which are believed to be left over from the beginning of the solar
system
2) Celestial objects that orbit another body in space
3) Similar to stars in the sky but they are much closer to the Earth
4) The name of the things encircling several planets of the solar system
76- What do the four outer planets have in common?
1) The gasses that they’re mostly made up of
2) The number of the rings they have
3) Orbicular things surrounding them
4) Minerals which make up their surfaces
Passage 2
The use of electronic mail (e-mail) has been widespread for more than a decade. E-mail simplifiles the
flow of ideas, connects people from distant offices, eliminates the need for meetings and often boosts
productivity. However, e-mail should be carefully managed to avoid unclear and inappropriate
communication. E-mail messages should be concise and limited to one topic. When complex issues
need to be addressed, phone calls are still the best.

[A] E-mail provides most authentic and secure means of communication. [B] Nowadays, e-mail
communication has extended to more than business among emiployees. [C] It opens doors to many
ethical and technological complications. [D] In some cases, employees tend to spread rumors about
other organizations, disclose information or data to unwanted parties, use offensive language in their
communication which conflict the ethical practices of an individual in organizations.

77- The main idea of the passage is that e-mail ... .
1) is not always the easiest way to connect people from distant offices
2) has changed considerably since it first began a decade ago
3) causes people to be unproductive when it is used incorrectly
4) is effective for certain kinds of messages if it is managed wisely
78- Which of the following would be the most appropriate title for the passage?
1) Appropriate Use of E-Mail
2) E-Mail’s Popularity
3) E-Mail: The Ideal Form of Communication
4) Why Phone Calls Are Better Than E-Mail
79- The letters [A], [B] , [C] and [D] in the 2™ paragraph indicate where the following sentence can be
added as a supporting sentence. Where would the sentence best fit?
[Furthermore, employees tend to send large amount of attachments, movies and sound clips
to one another or to a large group of people.]
DIA] 2)[B] 3)[C] 4) [D]
80- The underlined word “spread” in the 2" paragraph is closest in meaning to ... .
1) get along 2) reflect on 3) get around 4) get away
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